Mathematics
Arithmetic: Test 14b
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Arithmetic: Test 14b

1 | 9a1+7=
9 7 _

2 (707 70°

3 = 547 + 8871
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4 623 x 0 =

5 | 412x4 =

6 | 5309-03-=
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7 | 8802-615=

8 | 321903-67 372 =

q 480 +~ 6 =
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10 | 459+ 10=

11 | 63.7-504=

12 | 5+4-
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13 | 993 x 71 =

14 | 5616 + 54 =

@
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15 | 5+ x==
16 | >+2-=
17 | 5x7.02=
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18 | 45% of 679 =
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Answer Sheet: Arithmetic: Test 14b

&y

Guidance: Children will have 15 minutes for this test. Long division and long multiplication
questions are worth 2 marks each. For 2 mark questions children will be awarded both
marks for a correct answer. Children may get 1 mark for showing a formal method. All other

guestions are worth 1 mark each.

question answer marks
1 13
2 % or 1—%
3 9418
4 0
5 1648
6 5.009
7 8187
8 254 531
9 80
10 45.9
1 58.66
12 1=
13 70 503
14 104
15 =
16 =
17 35.1
18 305.55
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